== ¥ =N N\
T 5= W = % fFF F£
T4 |R 2H6 4 R AR AN - TR SRS LE HEXy JH TR -
THEX Sy B R
L XSy - LFE - FhI - M bsiis AT B (milEl) S (4D HE R eSS
iR
= 1. 000
EK T
= 1. 000
PR
= 1. 000
PR YR B A, bE T BRI ONR
1#5)
m3 50. 000
P LB T
= 1. 000
b S B CEB- ERiRY 15T
m3 50. 000
FE N
= 1. 000
TA7 7V MElEE T
= 1. 000
T A (HE - B E ) AR REEE : FEAE 79 V47 RC-40, 1
E Y IE:100mm
m2 388. 000
) A (HE - B E ) AR AR TR RM-
30, {9 JE:100mm
m2 390. 000
28 (HE - ) PRS- AE BRI T AT 7V MRS
(20), &H%E)2 1 50mm, F-HJ0E 1. AP
E3.omPA T
m2 391. 000




THX sy« LAE - FER - A5 ks HAL $eE (FimEn) B (4D FE R ELES
X IR T
= 1. 000
X R L
= 1. 000
A i X X it L5 15X 5y vt R o, B - 11
FRIX 2y - F28% 15em, AG S )& 1. 5mm,
A - 4
PEARPESZE  fE L N 150. 000
JHE O B
= 1. 000
S E L
= 1. 000
T IaE L T
= 1. 000
ESl ElAERRRER 7 AT 7V AR, A7 7V b
FERRIE : 15emEl T
m 110. 000
A R A EEEERRRER - 7 A7 7 M, SR
J= :5em
m2 260. 000
2y - NEUE U iE R LB ) X 57 M N, TIEIXK 5
FEt e L
m3 6. 000
TEHRALEE T
= 1. 000
THOE FRFER AT 7V M
m3 13. 000
RISy FRTEB 7277V bk
m3 13. 000
15 RSy
m3 0. 100




THX sy« LAE - FER - A5 ks HAL $eE (FimEn) B (4D FE R ELES
IE% 1.
= 1. 000
R EE T
= 1. 000
RIBFE R B
AH 14. 000
EETHE
= 1. 000
m R
= 1. 000
amxE (iR
= 1. 000
M
= 1. 000
B B
= 1. 000
T AR
= 1. 000
—WE R
= 1. 000
T ATk
= 1. 000
T 2 BAE M OV 5 S B8
= 1. 000
THEG
£ 1. 000




